Simple and Compound Interest Review

1. You deposit $500 in a savings account that earns 3% interest per year. Complete
the tables below, which type of interest gives the greater balance?

Simple Interest

Compound Interest

t | Principal | Annual | Balance at End t Principal and | Annual | Balance at End
Interest of the Year Interest Interest of the Year

1 $500 $15 $515 1 S500 $15 $515

2 $500 $15 $530 2 $515 $15.45 $530.45
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2. You deposit $600 in a savings account that earns 4% simple interest per year.
Your friend deposits $400 in a savings account that earn 5% simple interest per
year. Are the account balances ever equal? If so, after how many years?
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3. You deposit $1200 in a savings account that earns 5.4% interest compounded
annually. What is the account balance after 3 years?
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4. After 7 years at 3% simple interest per year, your savings account earns $62.
What is the principal?
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5. Your friend borrows $1050 from you to buy a new bike. Your friend pays you
back the principal plus 7.25% interest per year in 3 years. How much money do

you earn? 1: (05D 0’0_723_)(3)
$228.38

6. How long will it take to earn $500 simple interest, investing $8500 at 4.25% per
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7. Liam invests $5000 for 5 years at 5.25% per annum. How much more would he
collect at the end of the 5-year period if the money invested is compounded

monthly rather than compounded annually?
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8. How long, approximately, will Mr. H double his investment if the interest rate
was 2.5% compounded annually.
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9. Calculate the final investment value for the investing $3560 at 1.2% per annum
compounded monthly for 9 months
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